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SUBJECT CODE NO: - 1291
FACULTY OF HUMANITIES
B.A.S.Y. (Sem-1V)
Examination March/April-2022 (To be held in June/July-2022)
Geography -VIII
(Settlement Geography)

[Time: 1:53 Hours]
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Q1

A)

B)

Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use black or blue pen only.
3) Use pencil for diagrams.
4) Use of any signs, attracting attention is prohibited.
5) All questions carry equal marks.
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Fill in the blank(Attempt all)

1) - region are more propitious to concern of human settlement
2) - is the planned city in the India.

3) - is more in urban settlement comber to rural settlement.
4) The haseas are very thickly pocketed in ------=----- settlement.

5) Pune city is situated on the bank of river
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Answer in a sentence (attempt all)
1) Which are the dominant functions of rural settlements?

N

) What is wet point settlement?

) What is plateau site settlement?
)
)

B W

What is the urbanization?
Who is stated the central place theory?
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Q.3

31)

B)
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Explain concepts/ terms/units’ events (any two)
(Word limitation minimums 60 for each answer)
1) Check board pattern settlement

2) For ticked settlement

3) Metropolis

4) Administrative towns
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Attempt in short (any two)

(Word limitation minimums 60 for each answer)

1) Explain the characteristics of rural settlement

Explain the difference between rural and urban settlement
) Explain the Mann’s theory in short.

) Write the information about problems of urbanization
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Answer in detail (any one)
(Word limitation minimums 200 for each answer)

Explain in detail the pattern of rural settlement.
Explain the functional classification of urban settlement
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